Efficiency vs P,

- 0.1
o

2 0.09
>

20.08
o

0.07
0.06
0.05
0.04
0.03
0.02
0.01

e

—=— DQMstep3_SMS_CKF

—e— DQMstep3_SMS_default
—+— DQMstep3_SMS_defaultNEWT

= 05
2 0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05
Vel

iclency vs

=

et

..............................

..............................

..

...............

...............

..

...............

Ratio
N

0.95

Efficiency vs ¢

s 0.2
g
2018
2
) 0.16]
(S}
£0.14
(]
0.12
0.1
0.08
0.06]
0.04
0.02

.............................

...............................

..............................

..................

..................

1.0

Ratio




	Contents
	Page 1


